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Ответ:  М(3; – 2)



1)  – 1,42 – 0,4 = – 1,82 

2)  – 6,37 : (– 1,82) = 3,5 

3) 13,9 – 20,47 = – 6,57 

4)  1,02 · (– 6,57) = – 6,7014 

5)  3,5 – (– 6,7014) = 3,5 + 6,7014 = 10,2014 
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К л а с с н а я    р а б о т а.

*

К л а с с н а я    р а б о т а.



а)  2 · 3 · 3 = 18

б)  2 · 2 · 1 = 4



3 · 2 · 1 = 6





3 2 4· ·

Цвет флага

Цвет квадратика

Число углов

= 24



а)  15 · 13 = 195

б)  28 · 27 : 2 = 378



а)  15 · 14 · 13 = 2730

б)  12 · 11 · 10 = 1320

2730 : 6 = 455

1320 : 6 = 220



У:   № 496; 512; 514;

РТ:  § 16  № 2 – 4 
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